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When a manager exercised kindliness and ]ust1ce in dealing with his subordmates,
then it indicated that he believed in :
(1) Cooperation under Scientific Rules

(2) Democratic behaviour under Motivation

" (3) Huminity
~ (4) Fayol's principle of 'Equity"

mww%ﬁmﬁﬂwﬁa%mwmq#qulcgmawmmzmma:rﬁmEh

. U8 FRI HaT © o 98 fovary waar & -

(1) weanT Isnfe ferammar F
(2) RO & ST ASalad AqER
(3) ATgaT # o

(4) OO B wEET e §

Work study, time study and the fatigue study were conducted by :

(1) Mc Gregof (2) H.Fayol
(3) F. W. Taylor (4) K.O. Donnel
P SR, WA ST AR BT FEAT BT AT AT AT -
(1) #% IR gRT (2) THo BATA ERT
(3) TWo o TR BRI (4) o 3o A FRT-
‘Management by Objectives' is also known as : -
(1) Management by Settings (2) Management by System
(3) Management by Excéption (4) Mané%g;nent by Results
I BT ya T W @ ok A Y e S 2 9
(1) vgferal grT waw= O3 TS BT S
(3) 3UaATE ERT U= _ (4) ROl §RT Uawy

'Two Heads are better than one.’ This maxim is used for :
(1) Group planning (2) Management by changes

(3) Group functioning principle (4) Human approach of management
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‘ﬁqﬁﬁﬁwﬁ-mﬁﬁ%‘ruﬁaﬁﬂﬂﬁmﬁaﬁmﬁ%:

(1) E9E AISHATERY 8] (2) TRad=T gRT 99 &7
(3) WF PRIV R ¥ (4) wo & AE R 8

5. Employees ........ and resist control. One of the following will complete the statement
correctly. Which is that ?
(1) avoid (2) defer (3) dislike (4) hate
FHETOT =0T BT oo AT SHBT aRREY TR | freE eE-a 39 e T BT ?
1) wrEE (@ T d (3) TR B ¥ (4) IO B

6. An inner state that activafes, directs., sustains and steps behaviour toward goals is
called :
(1) Motive (2) Instinction (3) Zeal (4) Courage

Wwﬁ-wvﬁwaﬁa&uﬁaﬁﬁmﬁmmﬁﬁﬁwﬁ%%wﬁ%
qorr A T | TH FEd € ¢ .

(1) sfre (2) 7w (3) W (4) S=TE
7. An autocratic style is also known as :
(1) Complete style i (2) Essential style
(.3) Benevalent style (4) Directive style
T PREe A BT ST I E
(1) st I & (2) sraraTEd dh
(3) ameENg I W ;:f'(?:) s 9ol 9
8. 'Power is supreme’, is the most importantT theme of : | :
(1) Theory - Z of motivation ~ & ) Theory'— X of leadership
(3) Theory - X of motivation (4) Theory of power style
1) feR & figra-ois @ Q) g & gt a1

(3) IFRYT & Rigra-ga o (4) w3 & g &1
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9. A notion which includes all types of interferences between the transmission and the
reception of messages, is called :

(1) Distortion (2) Noise (3) Conflict }_.._._‘--_.(4_) Barrier
wwﬁaﬁﬁw%aﬁnﬁﬁmﬁwﬁam&ﬁ%@mﬁ%:
() fagfy @ ®R (3) fRm (@) I
10. Inductibn is associated with recruitment and .............. :
(1) Training (2) Development (3) Appointment (4) Selection
(1) ufreror & (2) S A (3) fgfea & (4) Ta7 9

11. If an Assistant Commissioner of Income Tax imposes the penalty of more than
Rs. 20,000, he will have to seek permission from :

(1) CBDT (2) Chief of Central Zone

(3) Commissioner of Income Tax (4) Joint Commissioner of Income Tax

ﬁmmmﬁwmmomﬁa@mwmﬁm%ﬁ@ﬂﬁw

(1) Ho dro o o A (2) w9 & RaTr @ |
3) IR FATR A (4) ITPR T FOATR A
12. The rate of education-cers on individuals is : |
(1) 3.8% on income tax amount (2) 3.5% on taxable income -
(3) 4% on taxable income (4) 3% on jncome tax amount
Il (raran) TR R SyBR @ o) 8 B
(1) SmIsR o AR TR 3.8% (2) M (F3-AFY) W 3.5%
(3) HR-TFY AT W 4% “(ﬁ)amma%?ﬁWS%

13. Examination of the nature, extent and efficacy of the system of internal check and
central is a procedural step of :

(1) Audit Control (2) Audit Programme
(3) Audit Procedure (4) Statutory Audit
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mﬁiﬁmﬁ@iﬁﬂﬂﬂaﬁm Wmmﬁmaﬁm@mwﬁmw%:

(1) sferor A= @1 Bl (2)31$a=rwmmzm
(3) aiaeror fafer @1 A (4) I SABETT P
14. Which one of the following audits is made on the basis of objectives ?
(1) Internal aud1t (2) Management audit
(3) Annual aud1t ' : (4) Interim audit
ﬁwﬁ%aﬁﬁwaﬁwmémwﬁmm%?
(1) S=<iRe JADET (2) VERT JFBETT
(3) aif¥e Sweror (4) Sr=IRH SierT
15. “ An Auditor’s plan of action is known as :
(1) Audit Memorandum (2) Audit Budget
(3) Audit Statement (4) Audit Article
sider @ BT Y Ao Y S o ¥
(1) aperor FHREH B TH | S d2) sfderor gofe @ AH
(3) afaberer fawor & AW W @) sideT arEdT B AW A

16. A written plan containing exact details regarding the conduct of particular audit is

known as :
(1) Audit Details . (2) Audit Memorandum
(3) Audit Programme (4) Checking Plan
wa@:ﬁﬁwamaawmwmwﬁwnwmma
S S O © £ 3
(1) afaeror fRa=er | ' ; ‘-"‘"(2) aiperor FEANSH A
(3) sideror S § i (8 e Ao A

17. A documentary evidence in si:pport of a transaction written in the books of accountsq
is called : :
(1) anIndent (2) a Receipt (3) a Ledger Folio (4) a Voucher
?Wﬁf?@ﬂéwﬂﬁq@mﬁmﬁﬁmﬁaﬁﬁ@wﬁﬁa@

(1) T® gsc Q) TE ™" (3) T ooR PR (4) TP AHN
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18. "Audit report is a summary of the conclusions as derived from collected and
considered data in .............. " Which one of the following will correctly fill the blank ?
(1) Auditor's opinion (2) Auditor's signature sheet
(3) Audit para (4) Audit sheet

ST RAE ... T T R oy T et @ P m Frst @
(ﬁ%}ﬁﬁ%f"@?ﬁwﬁ%f&qwﬁmﬁﬁﬁwﬁm%m?

(1) siders B R & (2) sers B TwRmER e §
(3) feberor =7 H (4) sideror dhe

19. A breach of duty or trust involving the company in a loss, is called :
(1) Misfeasance  (2) Misdeed (3) Misbehavbur (4) Offence
ST AT R BT Soelt T RO =1 31 21 B &), 9 pey & -
(1) 39T (2) R (3) PeER (4) firepr

20. The first auditors of the company are generally appointed by the :

(1) Shareholders (2) Creditors and Debtors
(3) Board of Directors (4) Chairman of the Compény
TR B Tor Siderl A P TR @ el @ - |
(1) sEeRal & gR _ (2) OFERI U4 TR gRT
- (3) GETA® WSS BRI (4) 9N B FIRAT gRT
21.  The economic reforms outlined by Dr. Manmohan Singh had a distinct component of :
(1) Fiscal stabilization (2) Banking sect(;r loans
(3) EDL 4) F.Lf i
ﬁoﬂﬁﬁﬁ%%ﬁ%ﬁﬁﬁﬂﬁ&ﬁ@ﬁﬂﬁﬁ@@ﬁwnﬂ?mmg
(1) TPy Rerfra=or @7 ﬁ)%ﬁmaﬁaiﬁaﬁw
(3) uuer faesh fAeer &1 (4) fa<h SRemTg 99 @7
22. The New Industrial Policy announced on July 24, 1991 dismentaled :
(1) The Industrial Licensing (2) The Tariffs
(3) The Custom Duties (4) The F.D.I limits
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el 24, 1991a%raﬁaa%ns‘=r§aﬁaﬁﬁm%ﬁﬁave=fWW

(1) sfrenfirs STSARTT BT 2) Rt @1

(3) 1 g B | | (4)%%sﬁmﬁawaﬁ@mﬁm'
23. The National Rural Employment Guarantee Act was passed in : '

(1) 2004 (2) 1991 (3) 2001 (4) 2005

T AT RSHTR RS Yge U fhar T :

(1) 2004 % () 1991 ¥ (3) 2001 # (4) 2005 ¥

24. The physical capital that underpins economic growth and development is known as :

(1) Sustainable capital : (2) Economic capital
(3) Base capital ' (4) Economic infrastructure
v o S aie gy TE SR BT SR FOEH WA B, S WA S E -
(1) i gof | (2) snfdie Tof
@) smme (@ ol s S
25. "Overseas investment by ............ is named as foreign direct investment'. One of the

following will complete the statement correctly :

(1) private multinational corporation  (2) foreign government

(3) foreign bank ; (4) foreign investor
R fRw ¥ Ay 3 e yee e @t o B 1 @ < @ i ¥ 1
wﬂﬁwﬁugrm
(1) ool T e :;()MW
3) faeh §% ! (4)ﬁ'té3‘ﬁﬁ%rm?

26. What is the main purpose-of,sgbsisteiace agriculture ?
(1) to satisfy the personal consumption needs of households
- (2) to satisfy the personal g9nsumption needs of weaker sections
(3) to satisfy the group nee;:ls of edible oils and foods

(4) to produce excess wheats and grams
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-

SR B F7 g Sedw w7 B & 7

(1) qﬁmﬁa%mﬁﬁwa@ﬂnﬁmmﬁﬁwm

) ﬂﬂﬁﬁ%ﬂ?ﬁaﬁmﬁﬂﬂmwﬂﬁwaﬂaﬁa‘faﬁwm
(3) IFET BT ot T WIS B SrATTFAH B G BRAT

4) P wT ¥ A€ 9 7 SAE B

Accounting for cost is based on :

(1) Single entry syétem ~ (2) Costincurred system

(3) Double entry system (4 Mix entry method

ATl & forg Sraie smnRa # '

(1) voer ufafe gomeh w (2) SFTE SYITT FOTE WY

(3) fe-vfafe gomeh w 4) fAfra sfafe gomeh w

Conversion and administration costs are categorized as :

(1) activity costs - (2) running costs

(3) functionai costs (4) periodical costs

BUIRIR AT JROA(eb. AT BT Fffepor frar Wy &

(1) feparefierar emrat & vy & (2) @re Tl & w9

(3) FrafeTd arTal & By o (4) HRF arTal & w9

(Average Rate of Consumption per day x Maximum Réorder Period in every
- emergency purchases) is equal to :

(1) Danger level of inventory () Averjlg_e stock level

(38) Reorder level (4) Minimim stock level

FfRfE sivrg v & = x Feh SATIT 7 § Aad T TER T FAY) SRR 2

(1) ¥ & GR & «R B “(2) T e R B :

(3) T AR TR B (4) B9 q T9 wie &R

(Prime cost + works overhead + opening work in progress — closing work in progress)
tells about :

(1) Cost of goods sold (2) Cost of goods produced
(3) Works cost (4) Manufacturing cost 3
2013/(Commerce)(B) _ : P. T,



(mﬁmwa+mw@é+m$ﬁmm%m _ 7o 1 BT wAfH W) A

B
(1)aﬁﬂ§m§3ﬁaﬁm$aﬁﬁ (Z)Wﬁﬁaﬁahaﬁmzﬁaﬁﬁ
(3) @™ aFd B IR H (4)ﬁn‘rﬂﬁm$aﬁﬁ
31. Which one of the following is the Accounting Standard for the Amalgamations ?
(1) AS-17 (2) AS-19 (3) AS-15 ' (4) AS-14
Breer ¥ P AEFT TG THGRO B Y E 7
(1) T w17 (2) T TE-19 (3) T wH-15 (4) T TH-14
32. Reconstruction A/c ¢ Dr. Rsi25000
To Premises A/c i Rs. 25,000

This journal entry at the time of reconstruction indicates that :
(1) premises were written up by Rs. 25,000

(2) premises were written down by Rs. 25,000

(3) reconstruction a/c was abolished

(4) premises were sold out

SEIELILECIS] 2 SIS P 1 25,000 Yo
i
P qagq IR @@ - 25,000 %o
qAfHior @ @ g sfafe gand @

(1) ¥a= aRER BT 25,000 ¥o g e ﬁ!mm
(2) W aRER B125,000 o & HH ﬁ@ﬁr
(3) o URER WY BV FAI R
(4) waw IRER BI 25,000 To ﬁ-ﬁﬁi e
33. The left hand side of the Balance Sheet represents :
(1) Capital Structure (2) Capital Level

(3) Financial Structure (4) Gross worth for outsiders
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35.

34.

36.

37.

forg @1 et e frefia awd &

(1) Toh < =1 () T TR B

(3) i 2 @) T i D e e e
A capital structure restricted to claim of the equity shareholders, is called :

(1) a complete capital structure (2) a complex capltal design

(3) asimple, capital structure (4) an equity structure

TE Yol 2 Rore w) Baet semnRal a1 afieR BT 2 ?R?faﬁ:?fé‘

(1) v& wwol goft <fan _ mwwf%a@ﬁw

(3) & WERYr Toft S (4) vH |Har efar

When there is use of fixed charge securities in the capitalization of a company then
that is known as : ' :

(1) long term capital (2) operating system capital

(3) financial leverage ' (4) financial structure
WW%WﬁWWWﬁWWWW% a‘reﬁmw%
(1) o=t arafy @ Toft & (2) sRerer ugfy o0 &
(3) faxirg S<ors & : 4 frhm R
Credit and collection policies of an organization influence :
(1) working capital requirement (2) capital structure
(3) capital size (4) capital mix
wwwﬁwﬁﬁaﬂ#aﬁ?ﬂﬁ(@maﬁ)m{ﬁgm%:

(1) =T IS0 A smawrEar @ (2) TN HRET By
@) Thamra @) A P
The internal rate of return of a project- 15 () e . which market net present value
equal to (ii) ... - Fill in the blanks correctly from the following :

(1) Normal rate in (i) and profit at (ii) &
(2) Discount rate in (i) and zero at (i1)
(3) Interest rate in (i) and normal rate at (ii)

(4) Interest rate in (i) and zero at 13 B
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Wqﬁﬁmzﬁraﬂﬂﬁaﬁmam .......... ﬁcﬁ%ﬁ!‘tﬁfﬁraﬂﬁmaﬂnﬁﬁ(ii) ...........
%wwéﬁr%ﬁmﬁﬁaﬁq—ﬁaﬁﬁﬁwwﬁﬁﬁﬁn?

(1) ()% ag R AR (i) § ™

) () ¥ 951 T AR (i) # I
(@) () ¥ = =R R (ii) ¥ 9

@ @) &t <X 3R (i) H @

38. Given : Face value of a share = Rs. 10. Issue expenses = Re. 1 per share. Consistent rate
of dividend per share = Rs. 4. The company plans to issue new shares at Rs. 20
premium.

What will be the cost of new equity share ? _
(1) 9% (2) 13.79% (3) 12.89% (4) 26%

W?:Wﬁwiﬁﬂ=1060|W$Eﬁ=1$0ﬁﬂlmaﬁwﬁﬁﬁ
- 4 %o faffae @ aredh & (73 M) | ' :

T HAT I B ST T s ?
1) 9% ) 13.79% (3) 12.89% (4) 26%

39. Cash paid to supplier for goods purchased is :

(1) outflow under operating use (AS-2)
(2) outflow under investing activity
(3) outflow under financing activity
(4) outflow under 6perating activity
W%qﬁ?ﬁhﬁﬂﬁwwﬁﬁ@(@ﬂﬁwaﬁ:

: (nmgxﬁmmqao—zﬁ?agﬁqﬁam-ﬁ%% .
(2) wifeate Praeh fpan & a=mia &
(@) aiftals Reor v & o &
(4) aif¥ate uRare fbar & F=d

40. Which one of the fpllowing is considered as short term solvency ratio ?
(1) Activity ratio (2) Capital Employed ratio
(3) Current ratio (4) Proprietary ratio

PG-EE-2013/(Commerce)(B)
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42,
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_ﬁwﬁﬁ%—wwﬁmmﬂa%@wma%ﬁwwim%?

(1) fbar argum (2) Toi PR s
(3) =re], rguTeT ' (4) wIfTHTT SrguT

Which one of the following Resolution cannot be passed by circulation ?
(1) Filling the relative of Secretary's post

(2) Filling the pbst of Control Auditor

- (3) Filling the casual \%acancy in Board

(4) Issue of houses to Directors

Fe1 § & S wvarg aReAIRYT ERT U T# R o7 Waar @ 7
(1) A= & == I " W= @

2) fFE=r siders & STE W B

(3) € H BRHT T TE I FT

(4) FEETDl B Fo FrfET F B

A Public Company with paid up Capital of Rs. Five Crores or more is reqmred to
appoint :

(1) a company secretary
2) MD unde£ Section 298-A

(3) Audit Committee u/S 292-A {
(4) Costand Works Accountant u/S292.A
WmmmmmﬁmqﬁmﬁwﬁﬁEMQﬁaﬁwaﬁmﬁ%:
(1) v T Ao Fge s @i

(2) ©RT 298-A % TEG THo o fFrgaa e &

(3) ST 292-A B &R ST WRRY PR awy &

(4) mwmﬁama%ﬁgﬁawzmA%wfa
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43.

44.

45.

46.

The Domicile clause of a company is contained in :

(1) .Articles of Association (2) Memorandum of Association
(3) Incorporation Letter (4) Company's Charter

TF A B AR GusdrH arafdse B © ¢

(1) YRGBT A | ' (2)Wma‘w&ﬂ’mﬁﬁ

(3) wTaEH oF H | (@) TR P AR A

Secretarial practice means : .

(1) Practical aspecté : (2) Office-design of the company
(3) Meetings of every type (4) Agenda writing of the meetings
e B Tl §

(1) arERe TEget W @ T S erieE-aRed
(3) w® yER A AfET | (4) @feT B ofer fore @

The 'Register of Debenture holders' is :

(1) a statutory register ' (2) a corporate kind of register
(3) an informal register (4) aregister of issue of bonds
FOTHRET BT IR Bl & '

(1) v wifafre FweR g'(Z)WWﬁEWWW
() T SR R | iy et & P B <R
The sanction for reissue of Debenturg is made by :

(1) Special Meetih_g of Direct:)rs (2) Annual General Meeting

(3) Board of Directors (4) Ordinary Resolution

mmwméﬁﬁwﬁmm%:
(1) warem! @ fre AfeT @ gN (2) e ARRET T G

(3) @Ta® drs gN (4) |ERYT FEIE &R
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48.

49,

50.

" PG-EE-2013/(Commerce)(B) | | P.T. O

The Histogram can also be shown as a :

(1) Frequency Gram (2) Frequency Polygon

- (3) Ratio Graph _ (4) Frequency Graph

srgafed ®1 779 3 F 1o ok o ¥ N Rawr o g &

(1) smgfr 7w (2) ot agg

(3) orguT AH - (4) smafy 7

f=m-z’(1~"—1) is under :

(1) Charter Method L @ o ma

(3) Summation Method (4) Laplace Method

X =m-i(F-1) & =1 & aidefa ST omar &

(1) =R Ay ) =ik Ry

(3) Hoaw fafy (4) e fafdy

Which one of the following is called 'positive average' ?

(1) Geometric Mean (2) Harmonic Mean :
(3) Median (4) Weighted Arithmetic Mean

=1 § & s ‘sraReafy sz weamr @

(1) R sivgg () T s

(3) et (4) R O S

(c+X) is known as : i

(1) Standard Variate Coefficient 3 &2) Coefficient of Mean

(3) Variant Coefficient (4) Coefficient of Standard Deviation

(o +X) B S €T B

(1) w99 =R o & : (2)%%@&3?
(3) uRedf qones & _ (4) v fage= & o |
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51.

52.

53.

. ﬁﬂmeﬁrm’rwﬁwm

4
4|

General - offer means an offer made to :

(1) World at large (2) National level

(3) World of business (4) World of contract makers

TTATRI-SATd BT 31§ vRard e ¢

(1) gga @ ¥ @ mER L

(3) MR & P A ' (4) o B dTel B A A
'Consensus of idem’' means : R _

(1) Identity of minds _ (2) ‘Identity of free consent
(3) Identity of mistake ' _(4) Freeconsent
L |

(1) faar &1 gaHred (2) adwEHf B ghred

(3) eI D YBIdT | (4) @ FEA

Read the following statements carefully : ;
(a) The discharge of principle debtor will discharge the surety also.

(b) The number of contracts in a c_ontrad of guarantee are three.

Now, which one of the following alternative is correct about these statements ?
(1) 'a’ and 'b’ both are correct i (2) 'a' and 'b' both are incorrect
(3) 'a'is false, 'b' is correct | W (4) 'a'is true, 'b' is false

(et )wwmﬁwmmaﬁiﬁgﬁmﬁﬂm

@) wﬂé’ra%aamﬁﬁwaﬁamﬁmﬁmaﬁm@ﬁm

o @t et @ AR Fre 3 9 P Reer @@ R 2

(1) ‘o T @ A A ¥
3) o FEA B, T P

(2) ‘a7 gom ‘@ <M T ¥

4) ‘o T, T I B
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55.

56.

97.

58.
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Pledge is a type of :

(1) Loan (2) Debt (3) Bailment (4) Agency contract
V& TP IIR § - |

(1) =1 & (2) H B - (3) fEdT & (4) TORR e B
A breach of condition may be treated as a breach of : _ | b

(1) Warranty (2) Contract

(3) Confidence _ (4) Consensus

T BT HIT BRAT FAHT T HBAT §

(1) RS BT 9T BT (2) gy BT HT HIAT

(3) fawary & are (4) TEEfy B T HRAT

An ordinary partnership firm can have :
(1) not have more than 20 partners (2) not have more than 30 partners

(3) not have sleeping partners (4) not have more than 50 partners
T% WRIRYT WIee) BH # 78 8 wed

(1) 20 WRIERY ¥ e AR (2) 30 WY ¥ o AR

(3) fFftry IR (4) 50 IEIERI ¥ Af¥H FEER

A partnership firm may be dissolved by any partners by giving a notice to other
partners in case :

(1) Dormant firm ~ (2) Fixed partnership
(3) Purposive partnership (4) Pa;trl;ership atwill

wv@a@mﬁww%wwﬁm%ﬁﬁﬁﬂﬁwﬁmww%w
IR ¥ W9 : :

(1) o9 S & < (2) W AR 8

(3) STEITUTHS AR B | (4) HTERT oTUE W

A Bill of Exchange dated 29.01.2012 is made payable at one month after date. The Bill
will mature on :

(1) March 1, 2012 (2) March2,2012

(3) Feb. 29,2012 (4 March3,2012

PG-EE-2013/(Commerce)(B) | | G ]
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59.

60.

61.

62.

29.01.2012m%mﬁﬁﬂﬂﬁqawwméaﬁﬂnﬂm|ﬁﬁﬁqﬁmaﬁm%:

(1) \rd 1,2012 & (2) | 2,2012 B

(3) HXaRI 29, 2012 BT (4) 53,2012 &1

The controlling authority of a company under the Companies Act is :

(1) General Manager (2) Secretary of the Company

(3) Director Control X (4) Board of Directors

S P & ded e @ fgerr @ e el §

(1) ST Je&d & I _ (2) H & Afg & 9

(3) fri=vr waTe® & U (@) Fas 9 B U

"Every company should maintain a ... where all contracts of interest of
Directors”. Which one of the following will complete the statement correctly ?
(1) M.O.U. (2) Register .

(3) alogbook (4) Directors interest log book
s TR B SaTeEt B Rl are el B ... XE AT P H B
el YT BT FE QR BT P

(1) THo 3flo Jo (2) R _
(3) AT g&id _ (4) arad! @ fEdl arell AT gRiD
Jvariance is equal to:

(1) correlation coefficient (2) coefficient of variation

(3) standard deviation ¢ (4) mean variation

(1) FEa= Tod | . _(2) faeRo gonie @

(3) wAd e & . (4) 3Ma faemor &

[Q; — Median] - [Median — O, ] = Zero. It indicates that the distribution is :
(1) symmetrical (2) non-symmetrical

(3) binomial (4) Poisson

PG-EE-2013/(Commerce)(B)
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[Q; — wifeaaT] - [FfegesT — Q; | = Y | I8 Faw & f de :

(1) w2 @) o &
(3) fRoe 2 (@) st R
63. Index No. = 2P0 XZPﬂh . What will be written iﬁ place of 7' ?
? ZPO‘?I j
(1) > P10 (2 > Podo @) X (4) > posi
ADH = 210, 2P ST fos (7) @ SorE @ ﬁ‘ﬂm.mirm ?
_ ? > Pol1
1) . pid0 2 Y podo ®B) d.ra 4 D pody

64. Pearson's coefficient of correlation is also known as :
(1) Standardized correlation point
(2) Free correlation
(3) Product moment correlation coefficient
(4) Oy -‘Xl .)_(2 ;
foard= & wewwr o @1 o ST S @
(1) yaIfa wea=y g &
() wEE
(3) T gof wEwEE IOiE | iy
4) 04 .X;.X, & : e

Lo

~
' 65. When the promoters are issued shares for company formation services, one of the
following account is debited :

“

(1) Promoter's A/c (2) Preliminary Expenses A/c

(3) Incorporation A/c (4) Company Formation A /¢

PG-EE-2013/(Commetce)(B) PO,
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mmﬂﬁaﬁwﬁﬁﬁwaﬁﬂa@%%ﬁmﬁ?ﬁﬁﬁﬁ?&wﬁ%ﬁﬁﬁﬁwmﬁ

o1 Sfie farar S 2
(1) gaci®t &1 @rar | (2)mﬁqa5@a‘fmam
(3) THIEATT @ P (4) T= fwfor @1 @

 66. The Pooling of Interest Method' of accounting entries is followed in case of :

| (1)' Merger _ (2) Dissolution

(3) Incorporation | (4) Reconstruction
T ) T R o e SRRt & < S 2, T e R o & -
(1) e & < ¥ (2) | @ g § '
(3) e @Y g9 A (4) gAfTET o g9 A

67. Given : Normal profit = Rs. 15,000 (10%); Average profit of 5 years = Rs. 16,400; Non-
- recurring profits = Rs. 1,000 p.a.; Present value of annuity of Re. 1 for 5 years at 10% =
Rs. 3.79. :

What will be the value of goodwill ?

(1) Rs.1416  (2) Rs.5306 (3) Rs.1,516 (4) Rs.4,306

faar & : | @ = 15,000 To (10%); U g6t w1 aied o & = 16,400 Bo; AFETHF
A & = 1,000 To U T 1 %o & 598t @ farg A & ST = 379%10%9%3&

R
I @1 I @ ey ?
(1) 1,416 %o (2) 5,306 To (3) 1536 %0 (4) 4,306 %o

: 1§
68. If the remuneration of liquidator is to be given on unsecured crechtors, then the

remuneratxon will also be g1ven on:

: -,
- e

-~ v

(1) partially secured creditors

(2) preferential creditors
(3) debentures

(4) mortgaged loans
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aft GReITS 51 TRSIYE SRR FOTETTS T T 8 aef ¢
(1) 3if¥rp TR Feorerarsit uwr  far s '
(2) feE= ForgTERl W) W R S

(3) ForaEt W o T S '

(4) I%16 o1 W) A f&ar S

- 69. The dividends received from Subsidiary Company out of pre-acquisition profits
should be deducted by the Holding Company from the :

(1) Cost of shares purchase from Subsidiary Company
(2) Goodwill of Holding Company
(3) Capital Reserve of Holding Company

(4) General Reserve of Holding Company

WETF N X BT B G D ani § J U AT Y P S B wer & ARy
(1) HERS B I WIS T e B ArTd H | '

@) fr= s & ey 3§ 9

() o= s @ o d9dt 7 |

@) Fo=e FO & A Gl § |

70. Which one of the following statements is incorfect ?
(1) Shares are revalued for estate duty after the death of the shareholder

(2) Shares are not valued for Wealth Tax 4 3

(3) Shares are valued when mortgaged B

(4) Accumulated profits affect the value of ﬁhﬁ;;es
= d | -9 FUF TaT e ? 5
(1) 3eEm) & 90 & 915 GHRT R g 3 BT gTHedieT fhar e @
(2) 3N BT YIS O B B To! (DT Sl
(3) 3fel @ AREl Y@d 99 ST T ih fHar Sl 8
(4) wfra @, el @ qou B wwifad s

PG-EE-2013/(Commerce)(B) : ol T
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71. The 'Standard Money' is a class of :

(1) Paper Money (2) Fiate money
(3) Token Money | Th (4) Metallic Money
T & T © |
(1) BTt B g 0 B (2) amw guT A AN |
(3) T ga1 A A - (4) e W g1 A
72. Liquidity trap is associated with demand for money and the :
-~ (1) Level of interest rates (2) Keyne's theory
~ (3) Gresham'slaw " (4) Supply of money
aaT B TR § g1 B AT | R :
(1) O X FH R A @ D R W
@) ¥ @ Fm § | @) 1@ gl |
73. The contraction of Bank Credit and the volume puréhasing power indicated :
(1) inﬂati_oh (2) recession (3) deflation  (4) contraction
9t o e e 7 R B SR Y SR R Fia
(1) TR B (2) A BT @) SRR B (&) T B
?4. Which one of the following is not the constituent of money market ?
(1) Commercial Bank (2) Credit Rating Agency
(3) Acceptance House (4) N?nEBanking Financial Institution
ﬁrﬂﬁﬁaﬁﬂ—mwwwmﬁ%?rg e, |
(1) =mRs 9@ - u@ e Fraes o
'(3)ﬁ?ﬁ'fg|w : (4)31*&%%21@%
98 Nétionalizatinn of Banks is also caliggi :
(1) Socialization of Banks (2) Generalization of B.anks
(3) Secularlization of Banks (4) Democratization of Banks
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] BT TSIV GEATT 2 :
(1) 1 &1 FHTNHROT (2) d@i &1 ARG A
(3) d@1 BT Alfhddor A (4) d&i BT AB=TERor Y
y (R A is one of the main weapons with RBI for controlling credit in the economy."

The blank space will correctly be filled by :

(1) Monetary circulations (2) Banking op.erations

(3) Open market operations (4) Credit rationing _

“sriegazen ¥ WrE I g ARo fo Mo B UK . T% W ERER &1 @ren

RO H e B ¥ WRT AR

(1) e aRerer (2) I frar

(3) ger IR A (4) wrg @ :
77. The nationalization of RBI took place in :

(1) Jan., 1948 | (2) Jan., 1949 (3) Feb., 1950 (4) March, 1950

3Ro dlo TS0 aﬁ RTSEIHROT §IT |

(1) 5999, 1948 #  (2) Tad, 1949 ¥ (3) wwad), 1950 §  (4) #7d, 1950 #
78. The 'Lead Bank Scheme' was introduced by :

(1) RBI

(2) SBI ..

(3) Gurgaon Gramin Bank } i

(4)- National Bank for Agriculture Reconstruction and Development

-
-

wrfaeie 45 @ IE @ T =
(1) 3Ro o S0 ERT

(2) THo dio 3o ERT

(3) T AT B gRT

(4) PR gAfHor For A & oy w=hg ¥ grr
PG-EE-2013/(Commerce)(B) = ' P.T.O.



79. A sustainable annual increase in GNP at rate varying from 5% to 7% or more is called :

(1) Economic Growth (2) Economic Development

(3) Economic Rebustness (4) Economic good health
Wq@umﬁm%mwmmmw&wwﬁﬁ% dr S9
wRa ¥y

(1) anffe i ' @) snfdfe wfa

(3) e wgeT (4) o st JEq

80. The First Five Year Plan was launched in : .
(1) April, 1950 (2) April, 1951 (3) March, 1948  (4) March, 1951
| yed doadly AT ARE @S |
1) o, 1950 % (2) 3, 1951 #F - (3) W, 1948 H (4) =g, 1951

81. Which one of the following is true about accounting ?
(1) Accounting is judgemental at times |
(2) Accounting is not a language .
(3) Accounting does not give information for decision making
(4) Accounting does not communicate all kinds of information for financial analysis
St @ AR A P # W A A0 7 E 2 e
(1) oEieT FHI-ETd fAorfae Bl & _.
(2) IFHA TF A TE €
) i Fofa ot ¥ anawae gE HSH el BRIl
@) ﬁ?ﬁﬂﬁﬁéﬂﬂ&%mé@mﬂwmﬁwwﬁm

82. The term GAAP is used to descnbe rules developed for the preparanon of :

(1) P&LA/c (2) Balance Sheet
(3) Fund Flow Statement (4) Financial Statements
Gﬁqqﬁﬂammﬁﬂﬁﬁﬂﬂwaﬁﬁmmﬁmﬁuﬁwmma%
forg fvan o ® ¢
(1) Sr-grfs @ : @) gt

(3) v waTE R (4) R R
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83. (i) Sales Tax payable A/c is Nominal A /c.
(i) Purchase A/cisReal A/c.
(iii) Drawing A/cis Real A/c.
Which one of the following is true about these three statements ?
(1) Only (i) is correct : (2) All are correct
(3) Only (iii) is correct - (4) Only (ii) is correct
() 7 R o= @ e @ B 2 |
(i) % @aT aRdGfas @raT BT & |
(ili) SATEROT WrAT IR<AAD GraT BT 2 |
3 A favelt & aR F e ¥ F P a9 wEr R ?
(1) Eﬁﬂa(i)ﬂﬁ%\'l (2) o |Er &
(3) Paet (iii) W& S (4) Bae (i) w2

84. Formula : 1~ (\JRV = Cost of Assets x 100) is for :
(1) Diminishing Balance Method of Depreciation
(2) Straight Line Method of Depreciation
(3) Digital Square Root Method
(4) Weighted Average Method ".ﬁ# :;
7 1~ (YR + e 7 x 100) P 21 e R & 2
(1) &9 3 gt = faﬁx 2q s |
(2) BN B a_ER fFEa F= 2g
(3) RfRvea avige fafy %g
(4) =R sirad &g
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85.

86.

87.

Which one of the following statement is correct ?

(1) Goodwill is a fictitious asset

(2) Capital is equal to all assets minus fictitious assets

(3) Net loss is reflected in lower net worth

(4) Net profit is reflected in higher cash balance

Pt ¥ R B B e R 7 |

(1) i G srafe w8

(2) Wﬁ?ﬁwmﬁﬁmﬁﬁwﬁﬁmﬁwﬁ.ﬁﬁwﬁ%
3) fr g o7 X gg v uifafa @ e

(4) Sea 7PE AW J Yg ™ HRfafEd e €

Given : Opening Stock of Raw Materials = Rs. 10,000; Purchases = Rs. 70,000; Duty
Drawbacks = Rs. 4,000; Cash subsidies = Rs. 3,000; Closing raw materials = Rs. 5,000.
The amount of raw materials consumed will be :

(1) Rs.59,000  (2) Rs.49,000 (3) Rs.35000  (4) Rs.75,000

ﬁm?:amﬁwwﬁraﬂmﬁﬁﬁfam = 10,000 o; FA = 70,000 Fo; Yob AT T
= 4,000 Bo; FHE FETIdl = 3,000 To; arfeem |t <sfoar = 5,000 %o | -
et Al B AT B AR SRR Bl

(1) 59,000%0 &  (2) 49,000 %o 3. 3) 3?‘,(1;?0 Fo B  (4) 750000 B

'A', 'B' and 'C’ are partners in a firm in the ratio of 3 : 2 : 1. 'D' was admitted in 1/6 for
which 'A' and 'B' sacrificed equally. The profitsharing ratio will be :
: ES

1) 5:3:2:2 @) 4:4:2:2  (3) 5:2:3:2 4) 4:2:4:2

a, T g AR T § 3:2:1 % U & WERR §1 T P e A 1/6% fa.
Sifer far | TH 1/6 B S T ‘T aRER A | TAT AR ST B ¢

1) 5:3:2:2 2) 4:4.:2:2 % i e R (4) 4:2:4:2
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90.

91.
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At the time of dissolution of'ﬁrm,'thel balances of fictitious assets are transferred to :
(1) Realization a/c of partners (2) Capital a/c of partners |
(3) Curreﬁt accounts of partners 4) Partners; personal accounts
P D AT W A R B A8 B v R o @
(1) AR & STE @ § (2) WEER & IO @l 3§
() TR S g Et (4) WEERT @ @fTa @
In 'Singlé Entry System', the capital balances are found by preparing :
(1) Balance Sheets (2) Capital Accounts
(3) Assets Account (4) Statement of Affairs
e SRR e ¥ G @ A Y e R o &, B % < e v @) A e B
(1) frr C () Tt e
(3) Rt & @ | (4) BREN: faaRor

Given : Cash -Price of a machine = Rs. 10,000. It was taken on hire-purchase system.

- Instalments : 1st year Rs. 3,800; 2nd year Rs. 2,500 and 3rd year Rs. 3,300. Rate of

interest = 10% p.a. Down payment = 20% of cash price.
The amount of interest in first instalment will be of :
(1) Rs.921 (2) Rs.910 (3) Rs. 821 (4) Rs.810

fear & : ve 79 &7 FH% qou = 10,000 To | wﬁmpmqaﬁ‘rwaﬁawn fect
verH a9 3,800 %o; fgfa af 2,500 To ok R af 3,300 %o | =TS &} = 10% "y 9|
oI WA AN = AhS G BT 20% | 0%

e fea # &t &t wfdy g st

(1) 921 %o 2) 910 %o (3) 821 %o  (4) 810 %o

The price quoted for further future production is called :

(1) Tender price (2) Quotation price

(3) Supply price (4) Competitive price

e —
il




qﬁm%ﬁmwmﬁmmm'@maﬁﬁﬁ%;
(1) fFfaer 7= (2) Sgd T
(3) I T (4) wferrd T

92. If the contract price - Rs. 2,40,000; National profit of the contract = Rs. 10,800; Work
f certified = Rs. 1,20,000; Cash received = Rs. 90,000. What amount of national profit
| will be transferred to P & L A /c? ' :

(1) Rs. 4,500 (2) Rs. 10,800 (3) Rs.7,200 (4) Rs. 5,400

Tf e B = 2,40,000 %o; PTed(-TdH AT FE W BT — 10,800 o; ST @14 &
<R = 1,20,000 To; THE W = 90,000 To &, M ety @ # Breafe @™ BT AT
fear S ? _

(1) 4,500 %o (2) 10,800 %o (3) 7,200 %o (4) 5,400 %o

93. When goods are transferred from one process to another by adding some fixed
percentage as profit in it, then profit is called : '
(1) Transferred profit (2) Interprocess profit
(3) Transferred profit of second process (4) Claimed profit

mwmma@ﬁmﬁmﬁamﬁqwﬁ@qﬁmaﬁmmﬁm
%,ﬁ’fﬂ'ﬂaﬂﬂﬁa»‘éﬁ%: - :

(1) saRT A () = wE B SR
@) weRd (4) sifernfea o

94. (Fixed Cost x Sales) = (Sales — Variable Cost) is equal to :
(1) Breakeven point (2) Co;ttgibution
(3) Sales at breakeven point (4) _Cérif‘fibution ratio
(e T x ) + (R — SRy ) R
(1) wafiRs fag @ 5(2)31'3@?{%
(3) TR fig w R (4) SHEQT ST

95. Income Tax Act, 1961 1is: g
(1) Revenue Law - (2) Money-[;a_undering Law
(3) Ordinary Law - (4) Income Burden Law
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96.

97.

98.

(1) exempted with certain conditions

o |
IR SRR, 1961 2 - ' :

1) Ya=g s (2) =1 HBTE srfe‘rﬁm_ |
(3) SERY ffam (4) g g9R fAfry
Taxable income of an assessee can not be computed unless we kinow his : =

(1) Total deductions under Section 16
(2) Total exemptions u/S 80
(3) Residential status in India

(4) Age on due date

Waﬂwﬁm—mmﬁaﬁwmaﬁﬁ%ﬂ%mw%mﬂw

frfRed wmed =7 fe g . 3

(1) 9RT 16 & T&d IHS Tt Bl - ]
(2) &1 80 & TET SHB FHoT BR-Had M |

(3) SYS ARA F I Rufy

(4) fFuiRa fifr ) Sue 57 :

Any income derived by a political party-by way of capital gains is :

(2) always taxable

(3) exempted upto 50% of capital gain

(4) 80% exempted
mﬁ%mmmﬁéﬁm@ﬁwﬂwmﬂé?ﬁ@aﬂ
(1) oo ol & | F=-gad B 2 o
(2) e BR-AFT B R

(3) T it W 50% e Frerd 2 -
(4) IoN o™ 80% PR-Haw BT &

Income chargeable under the head salaries is explain under :

(1) Sections 15, 16,17 and 18 _ (2) Sections 15, 16,17, 18 and 19
(3) Sections 14, 15 and 16 (4) Sections 15,16 and 17

PG-EE-2013/(Commerce)(B) P. T 0.



s @ st A o T P B ¥ W R il & e g § 2

(1) &R 15, 16, 17 3k 18  (2) uR¥15,16,17,18 3R 19
(3) ©RIY 14, 15 3R 16 (4) ¥R 15,16 3R 17
1 g9. The Standard Rent of a house property can. not exceed the rate determined by :
|. (1) Municipal Corporation (2) Rent Control Act
¥' (3) Tribunal (4) Central Government
' g;ﬁﬁﬂmﬁrmmﬁﬂmwmﬁrﬁmﬂﬁamﬁﬁm&%wﬁﬁaﬁa
| (l)qﬁﬁwmﬁ%ﬁm (2) Rexrn frr=on sffreE gre
(3) feegmer g | (4) P WIN EN

100. Ifan éligible asset is installed after 31-03-2005 and also acquired after 31-03-2005 the
additional depreciation is allowed : : '

(1) at the rate of 20% of cost in installed year
(2) at the rate of 10% of cost in installed year
(3) at the rate of 20% for 5 years

(4) at the rate of 10% for 5 years

(1) wﬁaaﬂ‘;’raﬁﬁﬁﬁzo%amaw
(2) <o A # T WX 10% B R | “
(3) dfa asi a®H 20% B W 4

(4) dfa auf a& 10% B a{q%r. ) ’*
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